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Quadratic Functions and Equations

O Assignment 6: The Quadratic Formula & The Discriminant
1. Find the exact roots of the equation 6x2 + 5x + 1 = 0 by using:
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2. Find the roots of the following quadratic equations using the quadratic formula. Your answers should
be both exact and rounded to the nearest tenth.
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3. Find the zeros of the following quadratic functions. Give answers as exact values in simplest form and

to the nearest hundredth.
a. f(x) =x%2+20x+15 b. f(x) =5x2+12-5
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4. Form a quadratic equation and solve. Give answers as exact values in simplest form.

a(2x—-1)Bx+2)=(x+ 3)(2x +1) b.3(x - 1)(x+2)-(x2+3)=0
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5. Find a quadratic equation in simplest form which is equivalent to the given equation, but has integral
coefficients. Find the roots of the given equation to the nearest tenth.
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- 6. Find the value of the discriminant in each of the following equations.

ax?+x+9=0 b.3x2-18x+27 =0
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7. Determine the nature of the roots of the following equations without solving or graphing.
a.2x’+4x+8=0 b.9x2;24x+16=0 c. —2x2-x+3=0
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8. For what values of n does each equation have real roots? > ®)

anx?-2x+1=0 b.2x2+20x+n =0
b*- 4acZ O b"-‘\qc_z_ O
)= 4n(1)2 0 20" ‘lm;\’ o}
4-9n2Z 0O oo~ ¥n= 0 o
n 2 e %r\z 5'8 €
For what values ofa does the equation ax? + (2a — 3)x + a = 0 have non-real roots?
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